EARAROBEEIERT — 2 N— IBISH —F

20175198 (B) 13EIEH6H

/P C3—8 C3 #7%—#% ‘ (%] 2 ‘ (sEmsml  — | & (&) 13000 FR
[A&4£] 17 :200,000" ~ 23#%&:50,000"  33%&:25,000M”  43%&:15000MH .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= B4 | FEEH 1:25.0 1-1-1-1 |39.0| — 1 446 | EERZ (FH)
111 |TA—NIR 54.0 o L) |BEE
RikivH/xwF BiTLyLLY gaiutie]
N NP =MEAX :25. —-3-3- . — MAAREER) (SH)
ol7| 7| FAESFLNY= o4 = 1(32/54)1 3-3-3-2 | 38.9 2 42225 éﬁﬁ:z
REATAT v — B:YYT—L BAT 7 — L
VN FN : —~5-5- - FFRA (&)
3 PR DEE P it 9 Rt 1.(2{3.7 5-5-5-5 | 40.2 5 <4+619) i
LiEL /ISR BiALA [Ealzzksecd
. - MARAH : 00— — #lllEE (FH)
lals| 75257517 o | BE% iy [ zeee @] = e | o [
LT ReA¥TvX> B:ay2-Y1rX KKT7 7 — L4
: I 4 | ERER 1:26.8 6-4-4-3 | 40.4 | — 4 419 | Bofl— (&)
55/ 5] FU=3—FbtEX 54.0 (1/2) (+a) | BEHE
LNAT =5 —L B:O—LILR)—LA FHE%S
— ~ T T :27. -6-8- . — FFRA (SH)
cB 3| Frorszr—y "o T8 VO | Rt P | =mAns
L:hxexy B:F/4OLTXT)— BR& S-7e0x
# 5 | EAFF 1:27.3 7-7-7-1 | 40.6| — 8 427 | BEEE ()
7 o | R—=U—FE—-U— 54.0 (1 1/2) (-6) #ILUE(E
L:7H¥A4FALINE BHITT4TF pidie]
s 6 | WWEEES 1:27.7 8-8-6-6 |41.0| — 6 417 | Bofh— (&)
8 4| 7xVF—2% 54.0 @) “n | B IELTA52E
R:TH AT Ly~ BFAHL—F it s
@ 1—F—@&BIEf
13=zr= 1,8,7,3,6,5,2,4
Aol=5r= 1,8,7,5,6,3,2,4
G§a=7r= 1,8,7,5,6,4,2,3
41—+ — 1,7,5,8,6,4,2,3
[ RN
B OB 1 100M4 714K 1-7 110H B E 1-7 130H &R 1-6-7 1,000M
8 B 1 1009 1-6 530 B H 1-7 150 JEH 1-7-6 1,890M
7 1004 6-7 1,130H
6 190M9

ABICOVWTRDTEEERROODE. TR LIV,




